ECONOMICS HSSCIl fﬂ
SECTION — A {Marks 20) |

Time allowed: 25 Minutes | 'Version Number [ 4 (14 [1]

Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allewed. Do not use lead pencil.

Q.1 Choose the correct answer A [ B/ C/ D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1) If foreign remittances are included in Gross Domestic Product (GDP), we get:
A Net national Product B. Gross Naticnal Product
C. National income D. Disposable Personal income
2) Which of the following is Marginal Propensity to Save (MPS)?
A& B2 c. ¢ o. ¥
Y Y AY AY
3) Kamran makes chocolates and Ali produces ball pens. Kamran wants ball pens in exchange with

chocolates but Ali doesn't like chocolates. Which of following problem of barter system is associated
with this situation?

A Problem of common measure of value B. Problem of doubie coincidence of wants
C. Problem of divisibility of both the goods D. Ball pens are expensive
4 The purchasing power of money:
A Is not affected by increase in price level
B. Increases with the increase in price level
C. Decreases with the decrease in price level
D. Decreases with the increase in price level
5) Which of the following is NOT the function of the commercial bank?
A Issue of currency notes B. Acceptance of deposits
C. Advancing loans D. Credit creation
6) Which of the following is an example of direct tax?
A Sales tax B. Commodity tax C. Income tax D. None of these
7) Which of the following tax is considered to discourage unequal distribution of income?
A. Direct tax B. indirect tax C. Progressive tax D. Proportional tax
8) Which of the following is a feature of domestic trade?
A. Not trade restrictions B. immobility of factors of production
C. Foreign aid D. Different currencies
9) Which of the following is an example of a multinational company in Pakistan?
A Pakistan post office B. Haleeb foods limited
C. Coca Cola company D. WAPDA
10) On the basis of population. Pakistan is placed at number:
A. 6 B. 7 C. 8 D. 9
11) Agriculture sector of Pakistan provides employment to;
A 32% of total labar force B. 42% of total laber force
C. 52% of total labor force D. 62% of total labor force
12) Per capita is equai to:
A National Income x Population B. Naticnal Income = Population
C. Personal Income = Population D. Personal + Population
13) The most simple and popular method of measuring economic deveicpment is:
A. Percapita income method B National income method
C. Quality of life index D. Social welfare method
14) Which of the following is NOT a sea port in Pakistan?
A Port Bin Qasim B. Karachi port
C. Gwadar port D. Hyderabad port
15) When a teacher is pramoted form grade 16 to grade 17, this type of labor mobiiity is called:
A Horizontal mobility B. Vertical mobility
C. Geographical mability D. Soctal mobility
16) National Bank of Pakistan was established in:
A 1947 AD B. 1948 AD C. 1949 AD D. 1950 AD
17) A market comprises of banks and other financial institutions which are involved in the short term lending
and borrowing loans is known as:
A Labor market B. Capital market C. Goods market D. Money market
18) When does the Fiscal year start in Pakistan?
A 1st January B. 31st July C. 1st July D. 30th June
19) Which of the foilowing is the major import of Pakistan?
A Cars B. Petroleum products
C. Medicines D. Mobile phones
20) If one person gives funds while the other gives expertise and management, this type of partnership in
islam is called:
A Murabaha(~= ) B. Musharika(~S jie)
C. fjarah {e_) D. Mudarabah (~_j—as)
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ECONOMICS H8SC-II 7/6

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questio_ns
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Maxks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
{15 x 3 = 45)
(i) What do you know about Depreciation Allowance?
(i) Write down any three functions of Money.

{iii) What is commercial bank? Write briefly.
iv) What do you know about Public finance?
V) Give any three advantages of International Trade.

vi) Why industrial sector is important for the economy? Give any three reasons.

(
(
(
(vii) Write down any three difficulties in the measurement of National Income of Pakistan.
(viiy  Write down any three reasons of low Percapita Income in Pakistan.

(ix) What is Economic development?

(x) Write down any three economic factors which influence economic development of a country?
{x1) Write down any three means of communication.

(xil) Write down any three factors which affect Mobility of labor.

xiii) Give any three functions of Stat Bank of Pakistan.

xiv)  Whatis E-Commerce?

xv) Give any three sources of revenue of a government.

xvi)  Give any three main heads of expenditure of government.

(

(

(

(

(xvii)  Write down any three exports of Pakistan.

(xviii) What do you know about Foreign Exchange Rate?

(xix) ~ Name any three countries which are members of SAARC.
(xx) Write down any three features of Islamic Economic System.
(

xxi)  Describe briefly the concept of Equality (equitability) in [slam.

b. Attempt any ONE part. {1x5=05)
(i) Write down the five main canons of taxation.
(i) Differentiate between Balance of Trade and Balance of Payments.

SECTION — C (Maxks 30)
Note: Attempt any THREE questions. All questions cary equal marks. {(3x10=3

)

Q.3  Explain the Product Methad of measuring National Income. What precautions should be taken
according to this method.

Q.4 Whatis Barter System? Discuss the main difficulties of Barter System.

Q.5 Discuss the importance of Agriculture in the economic development of Pakistan.

Q.6  Whatis Inflation? Differentiate between ‘Demand Pull inflation’ and ‘Cost Push Inflation’. i

U — S,
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